% RIVVAL

‘ skid plates

MHCTPYKLIUA NO YCTAHOBKE 3ALLUUT KAPTEPA U KIM
ENGINE BAY AND GEARBOX SKID PLATE INSTALLATION
MANUAL

Skid plate for:

Land Rover Evoque (2011-);

Land Rover Discovery Sport

(V - 2,0i (240hp) 2,2d(188hp))(2014-)

(Aluminium) 333.3103.1/6




‘ skid plates

q lll* *Q."

PACMOJNOXEHUE ABWXEHUE NnOBOPOT
LOCATION/POSITION ARROW MOVEMENT ARROW SCREW ARROW
ANORDNUNG/ BEWEGUNGSRICHTUNG DREHUNGSRICHTUNG
POSITIONSRICHTUNG

F




%

-«
©)

| /
On
<

¢

NS

SZ
AN

> RIVVAL

‘ skid plates

RU LLtaTtHbIM Kpenex
GB Regular fasteners
DE Originale montageteile

RU LUTaTHbIN Kpenex
GB Regular fasteners
DE Originale montageteile

RU BkpyTnTb Ha HECKONBbKO 060OPOTOB
GB Screw a several turns
DE Fir wenigen Umdrehungen befestigen

RU BbIKpyTUTb Ha HECKOMNBbKO 060POTOB
GB Loosen bolts
DE Bolzen lockern

RU [penb
GB Dirill
DE Bohrer

RU OTtBepTKa
GB Screwdriver
DE Schraubenzieher

RU KaHuensipckuin HOX
GB Office Knife
DE Blromesser




skid plates

% RIVVAL

M10x30

1x

M8x40

Q 10

1x

M8x50

X

1

14mm

h=

1x

1

M10x65/20

5x

o
=




skid plates

% RIVVAL




A
\/

R
2D

(©) 4

M10=47Nm

A

.@’
M8=24Nm




)




% RIVVAL

skid plates

YcTraHoBKa:

3awuTa MOTOPHOrO OTCeKa, TONMNMBHOIO 6aka, peayKTopa 1 afieMeHTOB TpaHCMUCCUK pa3pabaTbiBaeTcs
NHOVBMAOYANbHO Ha KaXXabli aBTOMOOUb.

OHa JormkHa ycTaHaBnMBaTbCs B COOTBETCTBMM C MHCTPYKUMEN U3rOTOBUTENS CNeumMann3npoBaHHbIM
Annepom unu Ha ceptudmuympoBaHHbix CTO.

3awuTa KpenuTCs K LUTATHbIM OTBEPCTUSIM CUMOBbLIX 311IEMEHTOB Ky30Ba.

Mpwn NpaBunNbHON yCTaHOBKE 3aLLMTa He JOSKHA KacaTbCsl Y30B M arperatoB aBToMooOunsi.

Mounting requirements:

Skid plate for Engine bay and Gearbox is developed individual for each car model.

Skid plate must be mounted according to installation manual by an authorized car dealer or by a special
car repair stations.

Skid plate is to be installed to original points and holes of the power units of the car.

Installed properly skid plate doesn't scrape another parts and assembly of the car.

Montageeinleitung:

Unterfahr- und Unterbodenschutz istindividuel fur jeden Fahrzeug entwickelt.

Unterfahr- und Unterbodenschutz ist gemall Installationseinleitung des Herstellers bei einem
autorisierten Autohéndler oder Werkstatt zu montieren.

Unterbodenschutz wird zu den originalen Befestigungsbohrungen der Karosserieteilen montiert.
Korrekte Montierung bedeutet keine Sté3e in dem inneren Motorenraum des Fahrzeuges.

YcnoBus akcnnyaTauum:

3alumTa MOTOPHOro oTCeka 1 31eMeHTOB TPaHCMUCCUMKN NpeHa3HaYeHa anst 3KkcnnyaTaumm B yCroBUsiX
npeaycMoTpeHHbIX MPOU3BOAUTENEM aBTOMOOUNS.

Mpw aKkcnnyaTaumm A0MKHbI ObITb UCKIOYEHBI CrlyYan Haesfa Ha KpynHble NPensTcTBUS U NPeaMeThI
Npuv ABMXKEHMUM aBTOMOGUIS HA CKOPOCTMW.

B cnyyae Haesga Ha npensitcTBMe Heobxoanmo yGeauTbCsi B OTCYTCTBUM MOBPEXOEHWUI Y3MOB U
arperaToB aBTOMOGWIS 1 NPUrOAHOCTY AanbHeNLWen aKcnyaTaumm 3alimTbl Ha cneumann3poBaHHOM
CTO.

Working requirements:

Skid plate for Engine bay and Gearbox is designed for use and drive of the vehicle in conditions considere
by the car manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle skid plate and the vehicle must be inspected in a specialized car
repair stations for damage of the components and assemblies and suitability for further use.

Betriebsanfonderungen:
Unterfahr- und Unterbodenschutz ist gemal} Betriebsanfonderungen des Fahrzeugherstellers
anzuwenden.
Auffahren auf die gro3en Behinderungen und Objekten beim Betrieb ist auszuschliel3en.
Beim Auffahren auf die Behinderungen und Objekten ist es nétig Mangel der Schadigungen und die
Mdoglichkeit der weiterer Nutzung des Fahrzeuges beim autorisierten Autohéndler oder Werkstatt zu
prufen.




% RIVVAL

skid plates

FapaHTus:
[apaHTUIHBIN CPOK 3KCNyaTauum - 12 mecsues.

Warranty:
Warranty period - 12 months.

Gewibhr:
Gewahrperiode betragt 12 Monaten.

YcnoBusi npeaocTaBrieHUs rapaHTUK:

3awuta yctaHoBneHa Ha aBTOMOOWUNb, C HEMOBPEXOAEHHbIMM CUITOBBIMM 3NiEMEHTaMy Ky3oBa U
KOHCTpPYKUMM (aBTOMOBUIb, KOTOPLIN He y4acTteosan B 4 TI1);

OTCyTCTBYIOT MEexXaHU4ecKne MNOBpPEeXAEHWs 3aluuThbl, MOMyYeHHble B pes3ynbraTe Haes3ga Ha
npenaTcTBue;

CobntoaeHbl Bce TpeboBaHUSA MHCTPYKLMM MO YCTaHOBKE 3aLnThI;

OTCyTCTBYIOT MEXaHMYECKNE NOBPEXAEHMS NMOPOLLKOBOIO NOKPbLITUS;

MponssoanTenb He HECET OTBETCTBEHHOCTU 3a N06ON yuwep6, NPUYNHEHHbBIV aBTOMOBUITIO, XU3HU U
300POBbLIO NMOAEN, B Cry4ae HapyLUEHWs YCITOBUIA YCTaHOBKM M 3KCMyaTauum 3aLuThbl.

MponssoanTens BnpaBe BHOCUTb M3MEHEHUS B KOHCTPYKLMIO 3aLLNTbI.

Warranty terms and conditions:

Skid plate is installed on the car, with good condition of the body and the assembly parts (the car, that was
notinvolved in the accident).

Absence of mechanical damages of the skid plate caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the skid plate;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of skid plate. The manufacturer has the right to change the
design of skid plate.

Gewaihrleistung:

Unterfahr- und Unterbodenschutz ist an dem Fahrzeug ohne Schaden oder Anderungen in
Karosseriebau und Karosserieteilen zu montieren.

Alle mechanische Schadigungen wegen Auffahren auf die Behinderungen sind entfallen.

Alle Anforderungen der Installationseinleitung sind berticksichtigt.

Schaden und Kratzspuren der Pulverbeschichtigung sind entfallen.

Hersteller nimmt keine Haftung fir jedweder Fahrzeugsschaden, Lebens- und Gesundheitsgefahr
wegen Verwirkung und Durchbrechung der Montage- und Betriebsanfonderungen.

Hersteller darf Design und Konstruktion der Unterfahr- und Unterbodenschutzen dndern.

Bcsa npoaykuua ceptudunumpoBaHa
All products are certified
Alle Produkte sind zertifiziert

4o
1‘&

%a“'\lauun oy 0BO.
10 Sw
2 $
S22

r,,q,“\(a

2
O

9001 150 9001




	Страница 1
	Страница 2
	Страница 3
	Страница 4
	Страница 5
	Страница 6
	Страница 7
	Страница 8
	Страница 9

